NS

oy

(@

&

Pattern Perfect

Assembly Instructions

o

S=

Crice

(Reproduction Prohibited)

Copyright March 29, 2021
Version 2.1

Grace Company



Table of Contents / Pattern Perfect

o= o I ] P 3
Step 1 - Template Installation...............cooo i 4
Step 2 - Bracket ASsembly ...........coo oo 7
Step 3 - ChooSE YOUF SEUP .......ocvviiiiiiiii et r e enas 9
® 15N MAChINE «.cueiii i 10
® 10N MACIINE «.cuiiii i e 13
@ 21iN MACIINE .. cueiii e 15
@ GrSBIIES ittt e 17
LI G Y= g =T PP 18
LI O T (= = = PO 19
O LT o PP PP UPP PP 20



Parts List / Pattern Perfect

1) Non-Skid Mat (not shown)

]

o

o
[

10) Pattern Perfect Templates

1) Pattern Perfect Bracket

3) M6 x 40mm  3) Plastic Knob

Hex Bolt

N
1) Stylus  2) M6 x 55mm
SBHCS

o0

1) 4mm Allen Wrench  2) M6 x 20mm  30) Pin

1) Stylus Bracket
3

SBHCS
a
2)M6  2) M6 x 10mm
Hex Nut SBHCS
e ™
O O

1) Top Plate Bracket



Template / Pattern Perfect
Step 1 - Template Installation

Parts Needed:

Pattern Perfect . M6 X 40mm
Template (10) Plastic Knob (3) Hex Bolt (3)

. Non-Skid Mat
Pin (30) (not shown)

P g

R e S SRR

Recianatat anansesce:

2

S

22 eas e S e
e S

EEEFERRERLY

5222 2R SRR

SRS R
adadnaicaanzezsas o e R NRARRHF
e ededatad aens sy sy cusvEpEEG
SR e Y

=
S s e
R eaeed e sy

ST

s eistan s s sy crsere TR

ESEEt
EREirees

ARREREReEs cass ceanaaaRRaN N 12808 £
F v it}

B 8
T e T
BARRARARESERER SR Sy g0 00
A 8 AR e A e e
SemEeea

ReiesatatReRsnss s ke

SRk T ssatasininnanuonas MR

1-1 Lay down the Non-Skid Mat on the Table Top, making sure there are no wrinkles.



1-2 Determine which pattern set you wish to use, and place that pattern set face-up on

the mat. Connect the next templates using 3 Pins, as shown.

Note: Number of patterns used varies based on frame size. Make sure the number of

patterns you use fits in the quilting space on the frame.

p

Pattern Perfect
Template

@O

1-3 Fasten the templates to the Table Top using (1) M6 x 40mm Hex Bolt. To do this,
find a hole that is near the middle of the template assembly and make sure it lines up
with one of the slots in your frame’s table. You may need to shift your template assem-
bly slightly to line up the hole with a slot. Put a bolt through the hole in the template,

push it through the mat and into one of the table slots.

Note: If using the Cutie frame on a table, skip this step and step 1-4.

5




Template / Pattern Perfect

e M6 x 40mm ﬁ

@/ Plastic Knob I

1-4 Place a Plastic Knob onto the end of the M6 x 40mm Hex Bolt and hand tighten
completely.




Bracket Assembly / Pattern Perfect
Step 2 - Bracket Assembly

Parts Needed:

TMITIITTTTITTTER

Stylus Bracket Stylus M6 x 55mm

SBHCS (2)

For Installation on For Installation on

Quilting Machines Top Plates
. N

O O
Pattern Perfect
Bracket M6 Hex Nut (2) Top Plate Bracket

Tools Needed:

e 4mm Allen Wrench

[ Stylus Bracket |

Stylus
[ Plastic Knob | | Holder

2-1: First loosen the Plastic Knob on your Stylus Bracket, slide the Stylus down into the
Stylus Holder, and tighten the Plastic Knob.

7



Bracket Assembly / Pattern Perfect

M6 x 55mm
SBHCS

|Pattern Perfect Bracket|

[ Stylus Bracket

2-2a: Attach the Pattern Perfect Bracket to the Stylus Bracket using (2) M6 x 55mm
SBHCS.

For Top Plates™* Only

M6 x 55mm e
SBHCS — L "

=

Top Plate
Bracket

| Stylus Bracket |

*Note: Skip this step if using a single-wheel top plate or the Cutie Frame.

2-2b: Attach the Top Plate Bracket to the Stylus Bracket using (2) M6 x 55mm SBHCS
and (2) M6 Hex Nuts.

8



Bracket Installation/ Pattern Perfect

Step 3 - Choose Your Setup

15in Machine

Go to page 18

Cutie Frame

Go to page 19




15in Machine / Pattern Perfect
Step 3- Pattern Perfect Installation

Parts Needed:

Pattern Perfect M6 x 20mm
Bracket Assembly SBHCS (2)

Tools Needed:
4mm Allen Wrench

Single Wheel Setup:

Note: Bracket can be installed on either the left or right side
of the machine.

3-1a: Gently tip your Sewing Machine onto its side. Attach the Pattern Perfect Bracket
Assembly using (2) M6 x 20mm SBHCS to machine as shown.
Note: For Dual Wheel Setup continue to step 2-1B.

10



15in Machine / Pattern Perfect

Dual Wheel Setup:

Note: Bracket can be installed on either the left or right side
of the machine.

Pattern Perfect / B

Bracket Assembly

3-1b: Gently tip your sewing machine onto its side. Slide the Pattern Perfect Bracket
Assembly in at an angle from the back of the Front Wheel Block as shown.

Pattern Perfect
Bracket Assembly

3-2: Slide the Pattern Perfect Bracket Assembly forward until you can place the other
side in the Back Wheel Block.

11



15in Machine / Pattern Perfect

M6 x 20mm ()
SBHCS OO

3-3: Line up the holes and attach the Pattern Perfect Bracket Assembly to the Wheel
Blocks on your Sewing Machine using the (2) M6 x 20mm SBHCS.

12



19in Machine / Pattern Perfect
Step 3 - Pattern Perfect Installation

Parts Needed:

Pattern Perfect M6 x 20mm
Bracket Assembly SBHCS (2)

Tools Needed:
e 4mm Allen Wrench

Note: Bracket can be installed on either the left or right side
of the machine.

Front Wheel Block

Pattern Perfect
Bracket Assembly

3-1: Gently tip your sewing machine onto its side. Slide the Pattern Perfect Bracket
Assembly in at an angle from the back of the Front Wheel Block as shown.

13



19in Machine / Pattern Perfect

Pattern Perfect |Back Wheel Block
Bracket Assembly

®|o

le

3-2: Slide the Pattern Perfect Bracket Assembly forward until you can place the other
side in the Back Wheel Block.

©|o

(0]©

M6 x 20mm
SBHCS

3-3: Line up the holes and attach the Pattern Perfect Bracket Assembly to the Wheel
Blocks on your Sewing Machine using the (2) M6 x 20mm SBHCS.
14



21in Machine / Pattern Perfect
Step 3- Pattern Perfect Installation

Parts Needed:

Pattern Perfect M6 x 20mm
Bracket Assembly SBHCS (2)

Tools Needed:

4mm Allen Wrench

Note: Bracket can be installed on either the left or right side
of the machine.

Y
[0 <
782
7
@ @
[ Front Wheel Block -
@ ®

Pattern Perfect
Bracket Assembly

3-1: Gently tip your machine into its side. Slide the Pattern Perfect Bracket
Assembly in at an angle from the back of the Front Wheel Block as shown.

15



21in Machine / Pattern Perfect

[Back Wheel Block|

Pattern Perfect
Bracket Assembly

o (0)3(0

3-2: Slide the Pattern Perfect Bracket Assembly forward until you can place the other
side in the Back Wheel Block.

© o
° °
ol ° \
©
o o @ e <
<] ©

° °

ANl [M6 x 20mm =

= SBHCS

3-3: Line up the holes and attach the Pattern Perfect Bracket Assembly to the Wheel

Blocks on your Sewing Machine using the (2) M6 x 20mm SBHCS.
16




G-Series 1 / Pattern Perfect
Step 3 - Pattern Perfect Installation

Parts Needed:

Top Plate Bracket M6 x 10mm
Assembly SBHCS (2)

Tools Needed:

4mm Allen Wrench

Note: Bracket can be installed on either the left or right side
of the machine.

M6 x 10mm
SBHCS

~< Top Plate
Bracket

3-1A: Line up the holes on the Top Plate Bracket Assembly with the holes on either the
left or right side of the Top Plate. Secure the Top Plate Bracket Assembly to the Top Plate
using (2) M6 x 10 mm SBHCS and a 4 mm Allen Wrench.

17



G Series 2 / Pattern Perfect
Step 3 - Pattern Perfect Installation

Parts Needed:

Top Plate Bracket M6 x 10mm
Assembly SBHCS (2)

Tools Needed:

4mm Allen Wrench

Note: Bracket can be installed on either the left or right side
of the Top Plate.

3-1A: Line up the holes on the Top Plate Bracket Assembly and the right side of the
Top Plate. Secure the Top Plate Bracket Assembly to the Top Plate using (2) M6 x 10mm
SBHCS.

18



Cutie Frame / Pattern Perfect
Step 2- Pattern Perfect Installation

Parts Needed:

/ W=
__ «ﬂmllll'ﬁ' (@
e (o)
il W

Pattern Perfect M5 x 55 mm
Stylus Bracket SBHCS (2)

y
m’;—%ﬁml

Tools Needed:

e 3 mm Allen Wrench

Note: Bracket can be installed on either the left or right side
of the Top Plate.

Top Plate

Bracket

M5 x 55 mm
SBHCS

2-1A: Line up the holes on the Stylus Bracket and the right side of the Top Plate. Secure
the Sty;:us Bracket to the Top Plate using (2) M5 x 55 mm SBHCS and the 3 mm Allen
Wrench.

19



User Tips / Pattern Perfect

e If using the Cutie tabletop frame on a counter, trace the patterns gently to avoid sliding
the plastic templates. The Cutie Table and Leg accessory allows you to bolt down the
anti-slip pad and there is less chance of template slippage.

e You can create different pattern designs/combinations by offsetting individual
templates. Combine patterns from either side of the templates (see example #1), or
stagger the templates to line up different from the same or different sides

(see example #2).

e You can also index the Stylus in 1/2 inch increments, which allows you to
offset patterns on your quilt or switch to different patterns on the templates.

(See reverse for examples of offset patterns)

Example #1

20



User Tips / Pattern Perfect

'ssed js11y o) Jo jurod yrejs oy oY) woxy
premioy sayour ¢ Suruurdoq sdays snoraard oy jeadoy] “ssed puooses oy 1oy urened
oy o110y utod owres ay) Je ssed puoosss pue Isiy Y} widoq wieed sIy) 9JeaId 0],

uoleuIquio) pasianay dojjeds abie

'sdoys snoraaxd o) Suneadax
Aq onuniuo)) urod jrejs oY) woij premoj ¢ Suruurdoq suroped om) oy oy yeadar
pue woned a1y 9ye10y utod swres oy je suroped oy) urSoq ureyped siy) 9JeaId 0,

co_umc_nEou Um&mix QE:m_ w?m._ ] o_o__mum mmzm._

urod Sunrels
oy woiy premioy ,z doys snotaaxd oy jeador uoy 1, "uroped A [rews oy jo yurod
Sunue)s o) woiy ,, 1 pue premioy 1 ureped dojreos oy urSoq uroned siy) 9jea10 0,

DOE 6000008000000 000000660008004
DO 0L 08808080 8088060008606488004
OO

uoneuiquwio) A dojjeds |jews 3 A [lews

9utod Sumnue)s oy woiy ,,z pue premioy ,z dejs snoraard
oy jeador woy ], yurod swres oy je surened yjoq uroq urdped sIy) 9)eo10 0,

AYAYAYAYAVAYAVAVAVAVAVAVAVAVAYS
AVAYAYAYAVAVAYAVAVAVAVAVAVAYAYS
) VA VA VA VA VA VA VA VA VA VA VA VA VA VAV

uoneuiquio) A abue g dwng jews

urod Sumnae)s oy) woly premioy ,z doys snoiadxd
oy Jeadar uay I, yurod owres oy e sureped yjoq Ewoa woyed m:t o0 0],

uoleuiqwo) dojjess |jews g w@m._

‘ssed yoed 19)je .7 1940 drejdwoy
oy Suryiys pue (saYlou ) ,,z SnAIS oy} Surrowr Aq pojeald st urened sy,

e B0 T S iFa e g e B T e e e W e
e ) T N NN e N W N S WiV g N g
M N N g N N N N N

‘ssed yoeo 10 7 9edwoy oy uryiys Aq payearo st ureped siy],

AN SO SOOI I I I I I T I T I I I I I I I

e U e W i I e e e e I e I gy

dwng ydu| ¢

‘ssed yoea 101 | 03 arejdwe) oyy Suniys Aq pajead st urened sy |,

uislied A Youj
‘ssed yoes 10y5e 7 1040 9)edwo)
Jy Sunyrys pue (SaYoIou §) .7 oeq SnjAls oy} Suraow Aq payeard st uraped siy ]

SRS LSLS

“Jimb oy Jo opis 3w oy woxy Furuurdoq s SIy) ‘urede 19040

ssao01d oy urdoq pue uonisod Junaels oy} 03 snjAls oy Josal ‘urede uroned

a1} JO 9pIs JYSLI AY) Je PIALLIR ARy puk do)s pary) oY) Ysiulg nok usyp ‘4

‘wxaped oy Jo opIs PYo[ oy} yoear nok udym dogs jsey oy jeadoy ‘¢

(Surmas u139q [[1M NOA AIYM PIeMIO] 7 SUIYOBW Y} JAOW [[IM SIYT,)

191 Suraow widyped oyy Suroen urdaq pue yoeq (SaYoloU §) 7 SNAIS Y} JAOW JXAN T
-91qIssod se premioj Iej se snjA)s oy} y3m b oA Jo opis 1o oy e uidoq |

N ANAAAANAANAANAANANAL
N ACAAAAAA A A A A A AL
N ANANAAAAAAANAAANAL

N ANAANANANAANAANAAAAL
dojjess youj ¢

‘'suJdanied jualaip JO Jaquinu }IUljUl UR 914D OS|e ued subisap ay3 JO SuOIlRUIqUIOD JO SaII9S
Buluiquo) *pajeald oq ued sutanied jualayip snosawnu ‘ssed yoea jo buluuibaqg ayj e Ajjeauswaloul 13|
1o ybu 91ejdwal ay3 pue oeq 4o paemol snjAis ayy buinow Ag rsojdipulid swes ayy buisn pajeald si uianed yoe]

suJaned a|dwex3 apino ajejdwa |

21



The Grace Company
2225 South 3200 West
Salt Lake City, UT 84119
Phone: 1-800-264-0644
Fax: 801-908-8888

www.graceframe.com

22



